
 

 

 



Norma] - form Aane

( ctrefearc - Fo, Simul tanean-n0ve, matrix form )

const Ff elements :

yy Set eR players  £4,2)..M5
Cet of actions A; for each player (

Az A Asx .t Av ~ set of action proxi les

~ action protile (nm a 9 lax J

O = (01,42, av) €A

UtA=R fe each b=12.,M

u.(a) = UH Ti ky o placer - ahes

fre play is a= (a. aw)

 



‘Dominance

Action O strictly dour mates action &

if ulab) > u(@b*) fr all b

Acker & weakly dominates  a@chou a’

if i) ou (a,b) > U(a’,b) Fa al b

z) u(4,6) > u (4% b’ ) for some b”

if it strictly domjua kes
Actisn On iS domwuant }

all othmn actiont

Acko. «a TS weally dom want it rt wealele

clon intes all ober acho-

 

/

 

Action Q iS LN dominated (admissible } if

it ‘6S nat weakly dominated by any © fie

acho.



 

 

  otal| t Dp strict donates Cc

et2 i undominated
C d bd is dow meout

\y Cc 0 _ . D weal, dominates C

D iS weakly dowwat

Ob serva tions A rational player:

> uill neu elay a atric tly dominated achon

= ut {| a leeds pled the dominant action

(c] thea is one)
— might play “e weal (loming ted acthon,

 

 



Belief Ratonwlile aud begt Response .

Beliefs Plager i's beliefs algout Playee ds achiong

a given by a probability distri buction
p= L ples), plvr),.., pC ee)J

Chl, p Cb, ) rs the pro bebi Ire ho+

p large 2 chooses

Expected peyoft ef plage | tron playing

ac How a, Give be lies P iS

u(a,e) = = p(be 4 (a,e )
ket

Lf Pleae 2 pleys acho be with gre |

tet so P(A )=4, PC

then u(4,p)= ula, be) |

 



Observativn A pectoral p lapse will alas

Choose ah achOu that maximines

u(ae) giver belif p.

pA Achaea. a is a best-resparce to lee lief p

4 ulae)> u(a4e) For evey a”

DA The  best-reiparse correspondence bk (y,

iS . the ot of best -(exgon achous to be lief P

RR(e) = argmax ula, PQ).
acA,

 

 

 

 



Rain~ Su Gane nth iat
No _ }

g. u( Holt, p)= S-p~O-(-#) = Sp Pl, wmb. 5

|

©

U (Un, p) = | p+ 3((v— 3-Ip Urnb. \ 3

Um, 4 0S 7

BR(P)= {Ye Mol 5 if ro
ye |

No
. —_—— { 3
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Action A is Neve a best reponse (NBR)
if it Ts not a bet reponse to any

belied Pe D(A) , Wed is

a ZAR(e) fa all pe AA)

A pationral plager will neetn choose o NBR

—> A strictly dominated actor is MAR Os

—= A NER acho may 2 may nat b&

dominated

A weakly dominated cectitn mre 22 Moy nal

be a NBR

 

 



 

 

 
  

C os a donreinatel (be >)

but a best respone when =)wT


